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Section A (30 x 2 marks) - _ ,
For questions 1 to 30, choose the most suitable answer and shade its nuinber (1, 2, 3 or 4)
on the Optical Answer Sheet (OAS) provided.

1. Study the chart below.

=

Ty (2 water hyacinth

it floaton Does it have a Are the frui
4} or o in
o m'»; » ‘ fruits
@ leaf staks?
Does it float
® on water?
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2. The diagram below shows a flowering piant.

What are the directions in which water and food are being transported at Z?

Direction of transport of
water food
(1) upwards A downwards
(2) upwards upwards and downwards
3) downwards upwards
4) downwards upwards and downwards |

3. The diagram below shows how blood flows in certain parts of the human body a few
hours after a meal.

X

A # ys
small
intestine

Which of the following below best describes the diagram above?

Organ X OrganY Blood at b?;; ‘:gpared to
(3) | heart lungs C(;nnt:':ssmxs:d
N I




4. The diagram below shows the life cycle of the butterfly:

This butterfly is found at Ahmad's vegetable farm. Which stage of the life cycle of
the butlerfly is-of a disadvantage to him?

(1) egg
(2). larva

(3) pupa
(4) adult

5.  Study the diagram below.

in which part of the digestive system is digested food absorbed into the
bloodstream?

M w
2 X

3 VY
(4) 2z



Two types of plants, X and Y, were planted on a piece of land as shown in the

A few years later, more plants, X and Y were found on the piece of land.

Y¥y,Y
YYyY

Which of the following correctly shows the characteristics of the fruits?

M

el

3

(4)

Fruit of plant . Characteristic
X Small and hght
Y Fibrous husk
Fruit of plant Characteristic
X Fibrous husk
Y Pod-tike structure
Fruit of plant Characteristic
X Waterproof covering
Y Hooks
Fruit of plant Characteristic
X Fleshy fruit
Y Wing-like structure




Thediagrmnsbelowshowﬂaehmandpbntreprqda:cﬁvepaﬂs.

Which of the following shows where the male and female reproductive cells can be
found?

Male reproductive cell Female reproductive cell
(1) A E C.F
2 AF C.E
(3) B.E C.F
(4) B.F ' D.E

Study the three different cells shown below.

Which of the following statements is true about all the three celis?

(1) They are animal cells.

(2) They can photosynthesize.

(3) They contain nucleus and celt wall.

(4) They contain cytoplasm and cell membrane.




9.

10.

Plants in the field Plants in the lake
@ | decreas: increase
3) increase ’ decrease
@) —— =

Mr Tan grows aliemating rows of piants A and B, a distance away from each other, on
a stesp slope. The dead Jeaves of plants A and B fall onto the soil of the slope.

, fallendead
plant A’ 1o aves from plant B
N plant A
' fallen dead
leaves from

plant B

Mid’rofmebﬁowingisnoia'reasonwhyme plants are growing well?

(1) Soil erosion is prevented.

(2) Fertilisers are added to the soil.

(3) Rats are kept away from eating plant B.

(4) Overcrowding of plants A and B is reduced.

A farmer sprayed some fertiliser on his field. Soon afterwards, there was a heavy
storm and some of the fertiliser was washed into a lake.

e e e

plants

- -

What is the effect of the fertiliser on the growth of the piants in the field and the
plants in the lake? - ) :




11. Helen wants to find

out whether carbon dioxide is needed for photosynthesis. She

placed five set-ups A, B, C, D and E under suniight for several hours. -
Cgess /7 )
cover
substance to
{ £ -~ j T
substance to
remove carbon
dioxide
set-up D set-up E
Which two set-ups shouldshese)edfmher'experiment?
(1) Aand Donly
(2) Band Conly
(3) Band Eonly
(4) CandD only
12. The following relationships were observed among four living things E, F, G and H.
E feeds on G.
H feeds onE.
G gels its food from F. e
HfeedsonGbutdoes notfeedonF. | .- —. -
Which one of the following classifications is correct? “
(1) F H E G
@) H E G F
3) F ' G E H
(4) H F G E
Sc1P6 7 Prelio ] Sacton A 1 7018 7 Pace 7 of 20



13. Study the food web below. . o -

~_

£ S

T‘___.._———-——

nts

Which of the following graphs shows how the population of P, R, S and T are likely to
be affected ¥ a disease wiped out the population of Q?

(1 Population size 2 Population size
'y ¥
T T
R
‘ P
R .
Time Time
3 . .
@) Population size “) Population size
F'y A T
P
T
S
P \P‘
R s
Time >

Com IO 22 e PO a® o B AANRGL 3P e o B B AN



14. Xin Yi made three model flowers of the same size and shaps using white-coloured
cards. She put different amount of sweetened water in the centre of each flower.
The model flowers were left in the open fiéld as shown below. _

centre with 4 drops centre with 8 drops centre with 12 drops
of sweetened water of sweetened water of sweetened water

She counted the number of butterflies that visited each model flower over three
hours. .

Now, Xin Yi wants to find out the colour of flowers which most butterflies prefer.
What change(s) to the experiment should she make?

: She should use model flowers of different sizes.
. She should use model flowers of different colours.
: She shouid put equal amount of sweetened water on each model flower.

: She should ensure that each model flower has the same number of
butterflies visiting. -~

O w >

(1) Bonly

(2) Band C only
{3) Aand D only
(4) B,CandDonly

B P E BES. . 2B av o B s e 2w m e ma



~15.

16.

Marvin made two shapes, P and Q, with the same mass of clay.

He filled two identical containers with 200cm? of oif and dropped the shapes into the
containers as shown below.

He umredmemnetamforshapwPanthotravelfrommesmfaceof
the bliebouomoiﬂiemierandobsermdmatshapePtookashoner
hmeto'%mebouomoﬂheconlamer

Which of the following correctly explains his observation?
(1) Therewaslesswaterre&stanoeactmgofshapeo
{(2) Therewasm'ewatermweacmmgashapeo

(3) There was less gravitational force acting on shape Q.
(4) There was more gravitational force acting on shape Q.

Devi trapped some gas in a container.
She pulled the piston towards the open end of the container as shown below.

before moving the piston - _after moving the piston

How was the volume and mass of the gas affected by moving the piston?

Volume of gas Mass of gas
4} decreases decreases
@+ _ﬁ;m — increases-
3) decreases remains the same
4) increases remains the same




17. Vicky conducted an experiment to study the hardness of four different materials S, T,
U and V. She used the sharp ends of a plastic rod and a wooden rod to scratch
each of these materials. She recorded her observations in the table below.

Rod 1to Scratch marks observed on materials?
scratch material s T ) Vv
wood yes no yes no
i plastic yes yes no no

Which of the following statements is true?

(1) S and T are harder than wood.
(2) T and U are harder than wood.
{3) U and V are harder than piastic.
(4) T andV are harder than plastic.

18. The diagram below shows two cups, P and Q, made of the same material.

ait trapped
in between
_ the double
' walls
cup P cup Q

Which of the following statements about cup P and cup Q is/are correct?

A : Cup Q will keep hot water hot for a longer period of time than cup P.
: Cup P will keep cold water cold for a Jonger period of time than Cup Q.

C : Cup P will aliow cold water to reach the surrounding temperature in a
shorter period of time than cup Q.

o)

(1) Aonly

(2) AandBonly
(3) Aand Conly
(4) Band Conly

' I 2 %l 8% B s B S B S a8 & s



-19. DevnplaoedmagnetAatastaﬂngpomtandapapercipatadnswnceawayfromthe
magnet.ass!wnbelow

distance J

magnet A

. & 2

paper clip

Devi moved the paper clip slowly towards magnet A. She recorded distance J, the
greatest distance at which the magnet attracted the paper clip.

She repeated the experiment with three other magnets, B, C and D as shown below.

magnet B magnet C magnet D
The table below shows the results of her experiment.
Magnet A B C D
Distance J {cm) 2 7 5 8

Based on the table, which of the following statements are true?

OO0 w >

(1)

3)
@

. Magnet D is stronger than magnet B.

: MagnetAis the strmgestamomstéll the magnets. .
: The strength of the magnet is not affected by its size.

. Only magnet C can atiract paper clips that are placed 5 cm away.

A and Conly
B and C only
B and D only
A. C and D only




20 The diagram below shows three sheets, P, Q and R, of the same size. Each sheet
wasmadeofamnmatenalandhasashapecutoutmﬂ\eoentreasshown

below.

3cm

object P
(made of wood)

The sheets were then glued together and light was shone at it.

=g

side A side B
(made of . (made of
clear plastic): cardboard)

Weewswsseiwoscccolhe

%

I

3 cm

3cm

R
{made of metal)

Which of the following shows the correct shadow formed on the screen?

e}

3

(2)

)

£ DR DU 2 A Am At B b A s b e




21. The table below shows the state of four substances, P, Q, R and S, at different -

State of substance at
Substance 30°C 50°C 70°C
P solid solid hiquid
Q solid bquid gas
R solid sobid solid
s Rquid liquid gas

Which of the following statements is/are definitely true?

A : Qboisat 70°C.

B : Pisasoldat 60°C.

C : S has the lowest melting point.
D : R has the highest melting point.
(1) Donly

(2) Aand B only
(3) CandD only
(4) A, B,CandD

22. Look at the pichwre below.

A wet towel is repeatedly placed on the baby’s forehead.
To bring down the fever, which of the following processes is taking place?

(1) Boiling
(2) Melting '
(3) Evaporation

(4) Condensation



23. Clara held a pwce of paper with a metal coin over a candle flame.

‘candle flame metal

coin

L=

A few minutes later, she removed the paper from the flame.
Which of the following diagrams showawhat was observed on the paper?

(1)

3.

(2)

(4)

24. Study the table below on the different ways of water conservation.

rinsing rice lo water

A B C
+ Using rainwater to » Treating waste water |« Tuming off the tap
wash the corridor to make it drinkable. while scrubbing the
o Using water for dishes.

+ Washing dishes ina

plants. basin instead of using

a running tap.

What do A, B and C best represent?

A B C

(1) Reuse . Reduce Recyde

(2) Reduce Reuse Recycle

(3) Recycle Reduce Reuse

(4) Reuse Recycle ‘Reduce B

Sc/P6/ Prefim | Section A 72016/ Page 15 of 20




25 Nmadsetupanexpetmuasshownwm -He placed a srong magnet atpoint £

26.

and added oW to the surface of the ramp. Hemenreleaeedhgeopperblockatpom
X. He observed that the copper block moved down the ramp and stopped at point Z
where it touched the magnet.

copper
bleek
- magnet
X
; —

Y4
Which of the following statements on the experiment is/are true?

A : There was magnetic force acting on the copper block at point Z.
: There was gravitational force acting on the copper block at point Z.

C : There was no frictional force acting on the copper biock when it was
moving at point Y.

@

{1) Aonly

{2)° Bonly

(3) AandC only
{(4) A, BandC

A ball was released from a height above ground. It moved from P {o Q as shown
below.

P
N’

Q

Which of the following is correct?
Potential energy of the ball | Gravitational forcesacting
fromPtoQ onthepdaltfromPto Q

(1 decreases remains the same
(2) decreases decreases
(3) increases increases
(4) remains the same remains the same




217. Thomas wants 10 find aut ¥ the thickness of the wires used in an electrical circuit

Bﬂecisﬂmewalsebubs He constructed the following set-ups A, B, C and

set-up A set-up B

Wi {1]—

set-upC set-up D

Which set-ups should he select to conduct a fair test?
(1) AandDonly

(2) A and Conly

(3) BandDonly

(4) A.CeandDonly




S1

o \

Which of the following will result in the bell ringing without lighting up any of the

bulbs? :

S1 S2 S3 S4
{1 closed closed closed open
{2) open closed open closed
(3) open closed closed open
{4) closed open open closed




29. Hannah had three bars, X, Y and Z, each made of different materials. She placed
ﬂnmatposiﬁawP.QandR,asshownhmeMbpbwandfecordedmemms-

fili—

B1®

Q

nd

P

o

L

R

B3

®82

The results of the experiment were shown in the table below.

She then repeated the experiment by placing the bars at different positions as shown

Position Bar
P X
Q Y
R Z

in the table below.

Bulb | Did the buib light up?
B1 yes
B2 no
B3 yes

Position Bar
P Y
Q y4
R X

Which of the following correctly shows the bulb(s) that will light up?

(1)
(2)

(3) |

4)

B1 B2 B3
no yes yes
yes yes no
yes no yes
no no no
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30. Tom sat on a swing and moved to and fro through a height as shown in the diagram
below.

Which of the following graphs correctly shows how the potential energy and kinetic
energy of the swing change with the height?

(1) . (2) 4
Energy, Energy
N l::;hc “potential
.\ gy “‘ l.‘ energy
., potential ./ \ Kinetic
“~.genergy S, . \energy
0 Height (m) Y Height (m)
(3) . (4)
Energy Energy
kinetic .-~ potential
energy ©  energy
potential kinetic
o Height (m) Y Height (m)

End of Section A
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. Section B (40 marks)

For questions 31 to 44, wnteyoutanswersmmespacesprowded
31. The diagram below shows the different stages of growth of a bean plant.

A B C D
a) Amange the above stages, A, B, C and D, in the correct order. 1]
A —_— —p >

b) Atwhich stages will the plant be able to make food? Give a reason for your answer.
{11}

Afler some tiime, some of the leaves of the plani wilted and fell onto the ground.

dead leaves

c) Explain how the dead leaves will benefit the piant. (1]




32.  Vimal conducted an experiment to find out how the presence of living things affects
a the level of casbon dioxide in the water. He placed four test tubes, D, E, F and
G, beside the window on a sunny day for 6 hours.
' cardboard box
N

s
7Z

77

...'ﬁ&)‘x.hl‘ﬂt{“}mn /

G

a) Amange test tubes D, E, F and G according to the amount of carbon dioxide in the
water at the end of the experiment, starting from the least. [1]}

Least » Most

b) Vimal continued the experiment for a week and observed that the tadpoles in
test tube E survived longer than the tadpoles in test tube D.

Explain why. [2]

SCORE
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33 Tom conducted an experiment fo find out if soil contains air.

| thepbeedaumplasbcsheetmagtassmplewmmwaterandmvened
the glass.

He then placed the inverted glass on top of a cup of soil. When he removed the sheet,
he observed that the water level dropped and bubbles appeared in the water.

a) Explain his observation. i1]

(question continues on next page)

| scome |
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Tomoonductedasecondexpenmentasshownbebw

Hep!aoed50cm of soil A into a funnel and powed‘lOOan ofwatetmtovt He'then
measured the amount of water collected in the beaker after 10 minutes.

- waler
poured in\
funnel
soil A
» cotton wool
]
beaker
] — Water collected
He repeated his experiment with soil B and C and recorded his resuilts in the table
below.
Soil A Soil B SoilC

Volume of water

poured in (cm®) 100 100 100

Volume of water

collected (cm?) 80 25 95

b) In arice plantation, a flooded paddy field is needed for the seedlings to grow.
Which soil sample, A, B or C, is the most suitable for use in the paddy field?
Give a reason for your answer. [1]

c) Give areason why Tom put some cotton woolin thé fimnel. =

SCORE
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34 mdiagranbe!owshowsarfoodwebmafann. A farmer grows rice on his famm fo
feed his family.

Recently, heobservedadecreasemmeamouudnoegramshecouldconect The
rice plants were healthy and produced the same amount of rice grains as in previous

years.
Using the information from the food web, answer the questions below.

a) Whatis a possible cause for the decreas'e in the rice grains collected? {1]

b) How can the farmer prevent the decrease in the rice grains collected? Explain why.
{2]

| score |



35. QabEsasrrla!mwhapalnfsnﬂdavs. ltfeedsonsmaﬂﬁshesandmma
pauo(otgansantsdawsasMbdou. , _

Crab E waves organism F around when threatened. The tentacles of the organism F

a) Suggest two advantages of canrying organism F in its claws. {2]

Crab G 1ias a shell that is covered with hooks to attach algae, seaweed or anything they
¢a: find on the seabed. Crab G hves on the seabed and the seched is vsvered with
seaweed.

Once a suilable covering is found, crab G snips it off with its claws and attaches it on
the shefl. Thec:abmmemsuﬂisswbenﬂywvered The algae or
seaweed continue to grow once attached.

b) State one benefit for crad G to cover itself with the seaweed [1]

Com T I Dinakee ] Covicran B2 2 DAL 4 Dase £ & o



b)

Johnwantedtoﬁndommmeanunalwastedsposedofbyafannaﬂectedme

* survival of the three aquatic organisms A, B and.C. -

He prepared eight beakers, each containing 1000 mi of clean river water and the same
number of organisms A, B and C. He added different amounts of waste released by
the farm to each of the beakers. After a day, he counted thé number of each type of
organism still alive in the beakers. The graph below shows his result.

number of
ocganisms

S

> animal waste (g)

Which organism(s) was/were affected by the animal waste? [1]

Farms P and Q released animal waste into ariver. The directions of the river are
indicated by the arrows as shown in the map below.

farm — |P

Q
nver
animal | 1 2
waste
released \ t
into the _
water 3

John took water samples from three points of the river as numbered in the map. The
number of aquatic organisms A, B and C in each water sample is recorded below.

1 2 3
A few none none
B many many many
C many few none

P.orQ
Which famm, P;-Qor R, gave out waste that was most harmful to the aquatic organisms
in the experiment? Give a reason for your answer. {11

5

Exphnmyﬂ\eammmdmalwastewndmadeaeasemmenmnberofﬁsh
kiving in the river. {11

[ score |



37. Jun Wen conducted an experiment as shown below. He covered the opening of an
empty bottle with a stopper and heated it.

stopper

heat

a) After some time, the stopper flew off. Explain his observation. [1]

Jun Wen then made a hole in the botile and repeated his experiment.

stoppér

bottle

heat

b) He observed that the stopper did not fly off this time. Explain his observation. {1]

mrmememe_gases E T




. 38.  SuMei heated 300 mi of Squid W in a besker for some time till point X.

Liquid W
She measured the temperature of the wster at regular intervals. Her results are shown
in the graph below. .
temperature
(°C) A

1\

time
(min)

a) Whatis the boiling point of liquid W? (1]

b) Su Mei measured the volume of liquid W at point Y. She discovered that the volume of
the liquid W had decreased to 295 ml.

Give a reason for the decrease in the volume of liquid W at point Y. [1]

~— ). Su Mei repeated the experiment using 100 mi of iquid W.

V\(iuheboiingpokuofiqzidWimease.deaaaseorrwtainthesame?
Give a reason for your answer. [{1]

% S Py



39. . The diagram below shows an electrical system for a lamp. The system has a circuit
: breaker which will swilch off the circuit when too much current flows through it. This
prevents the bulb in the lamp from fusing.

&g

X (iron bar)

The diagram below shows what happened o the system when she increased the
number of batteries.

X (iron bar)

pivot

Y (iron lever)

—i|i|o]s

Explain how the circuit breaker prevents too much current from flowing through the :
buld in the lamp. 12]

PSPPI NPT SO S o I,
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40. mdemmmamW. 4 o

When the metal clips were connected to the container, the bulb kit up.

a) Emily said that liquid K is'a conductor of electricity.
Do you agree? Giveateasonforyowarw. 1]

b) Emi!yrepeatedmeexpenmentu;imacomainermadeofmateﬁal P.

State one observation to conciude that material P is a better conductor of electricity
than material L. [1]




41.

In an experiment, an inflated balioon was glued to a toy car as shown below.

AtA, in the diagram below, auwasreleasedﬁmnmebamwhbhmtsedmewb
move forward. At B, all the air had*escaped but the car continued to move forward.

Thewrcamtoastopat)g

a) What was the source of energy that caused the car to move at the beginning of A?[ 1}

b) Give a reason why the car continued to move forward from B to C. [1]

c) Using only the materials given in the experiment, suggest one way to make the car
move a longer distance in the expenment. 1]

T




42.

mmmmdmwbwmimmdamaﬁmm
amwn&ofheatganedbyn.

J-!BbsedMoidenMair-ﬁghtcomamas.Am B, as shown below. Container A had
a black surface while Container B had a white surface. She placed the containers
under the sun. At first, the thermometers showed the same reading.

Container A Container B

After a few hours, she observed thatthetemperatmem(bnhumAwas higher than
that of Container B.

a) What could Hui Peng conclude from this experiment? [1]

(question continues on next page)

13 | score |



‘Set-up 1 and set-up 2 show how water is obtained from seawater using the Sun's
_energy. Seawater flows through the set-ups at the same rate. -

clear plastic cover

sun \ clear plastic cover
\ flow of seawater
drops of
|
waler = s white-painted base
.
g
Set-up 2
b) I was observed that more water was collected in Set-up 1 than Set-up 2 at the end of
the experiment. Explain why. : [2]
c) State what causes the water to flow down the plastic cover. {1)
*




When he pulied the string very quickly, the propeiier rotated and broke free from the
launcher. The rotation of the propeller caused an upward force which helped it fly up.
When it flew up to point B, it stopped rotating and dropped o the ground.

a) GweareasonwhymepmpellerdroppedbmegmuMaﬂEerﬂhadstoppedmCaﬁ?{at]
point B.

b) Fil in the boxes to show the energy changes that had taken place which caused the
propeller to fly from point A to point B. } 1}

of John's moving of the unwinding of the of the propeller
hand string rotating propelier

c) {f John pulled the string slowly, wmldmepropeuerﬂytoaqaaterorlowerm@ﬂ?

Give a reason for your answer. ]

5 - - : ISCOREI



. 44. Jenny conducted an experiment using the set-up shown below.

tray

She measured the extension of the spring after block J was placed on the tray. She
repeated the experiment using block K, L and M, each with various masses and
surface areas. The results are shown below.

Surface area in
Block Mass (g) comact with Extension of spring (cm)
tray {cm?) ‘

J 100 27 2

K 150 27 3

L 200 8 4

M 200 27 4
a) What is the length of the spring when block J was placed on the tray? (11}
b) State how the extension of spring is affected by the mass of the block? 1]

c) Based on the results, Jenny concluded that the surface area of the block does not
affect the amount of force acting on the spring.

“cervovevnonnvnvan”

Give a reason for her conclusion. {1}
Setby : Mr David Koh, Mr Benjami Mrs Narvin, Ms Pow Y:
Votion by: e oo Benjamin Kua, Sangeetha Chen Yang

€ &D | SCORE
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Q31a. D—B---C

Q31b. Stages A & D. At stages A & D, the bean plant has its leaves and it would be able
to use carbon dioxide, water and sunlight to do photosynthesis to make food for the
plant.

Q31c. The dead leaves decompose and act as fertilizer for the plant.
Q32a. FEDG

Q32b. Hydrilla in E can. Make food and produce oxygen for the tadpoles to respire but
not test tube D.

Q33a. There were air spaces between the soil. Therefore, the water had o occupy the
air space between the soil occupied by the air. Hence, bubbles appeared in the water./
Water enter the soil, occupy the air spaces in between the soil. Air in the soil will then
be pushed out of the soil.

Q33b. Soil B. The volume of water collected was the least so the soil returns the most
water.

Q33c. Tom put some cotton wool to prevent the soil from being collected in the beaker.
Q34a. There were more rats. Therefore, more rats would eat on more rice.

Q34b. Increase the number of cats. The cats feed on the rats. Therefore, more cats

would feed-on morerats and thére would be lesser rates to eat the rice.



Q35a. Crab E use organism F to sting and paralyse smali fishes to catch the prey ore
easily. Carb E wave organism F to scare away its predators.

Q35b. G would be able to camouflage with the seabed and it would not be easily
spotted by the prey and predator.

Q36a. A, C
Q36b. Q. At point Z, there was less organism A and less organism C as compared.

Q36¢. As there was more animal waste, the water become more murky. Therefore, the
submerged plant were not able to receive sunlight to do photosynthesis to make food
for the plant and produce oxygen. Hence, the animals in the river would die due to lack
of oxygen.

Q37a. The air in the bottle gained heat from the heat and expanded, forcmg the stopper
out. Therefore, the stopper flew off.

Q37b. As the air gained heat from the heat and expanded, the air was able to escape
through the hole. Therefore, the expanding air would not force the stopper out and the
stopper would not fly out.

Q38a. 75°C
Q38b. Liquid W expanded and formed vapour.

Q38c. Remain the same. The boiling point of a liquid is not affected by the amount of
liquid.

Q39. When there was too much current flowing through, X would become a strong
electromagnet and can attract iron léver and the copper rod would move away.
Therefore, A and B were not in contact with each other and the circuit would become an
open circuit and electricity cannot flow through.

Q40a. No. Material C was a conductor of electricity while liquid K might be insulator.
However, the circuit was still a close c:rcu:t and electricity can flow through, causing the

~ bulb to light up.
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Q40b. The buib had to be brighter.
Q41a. The moving air in the balloon.

Q41b. There was still kinetic energy of the toy car. Therefore, the car moved forward
from B to C.

Q41c. increase the amount of air in the balloon at the start of the experiment.
Q42a. The black surface gains more heat than white surface.

QA42b. As black was a better conductor of heat, the black base gained more heat. The
seawater evaporated faster to from water vapour. The water vapour lost heat and
condensed on the plastic cover.

Q42c. Gravitational force.

Q43a. When the propeller stopped rotating, there was no kinetic energy of the rotating

propeller as the kinetic energy had been converted to gravitational potential energy due
to gravity.

Q43b. 1. Kinetic energy of theﬁ rotating propeller
2. Gravitational potential energy of the propelier.™

Q43c. Lower. it would have less kinetic energy.

. Q44a.8cm.



Q44b. As the mass of the block increases, the extension of the spring increases.

QA44c. Blocks Land M have the same mass but different surface area but the exteiision
of the spring is the same.




